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Question 1
Question Type: MultipleChoice

Device 1 is the vMaster in a virtual chassis. Select the command set that adds an IP address to VE interface 200 on device 3?

Options: 
A- interface ve 200 device 3 ip address 198.162.4.1 /24

B- interface device-context 3 interface ve 200 ip address 198.162.4.1 /24

C- interface ve 3/200 ip address 198.162.4.1 /24

D- vcs device-context device 3 interface ve 200 ip address 198.162.4.1 /24

Answer: 
C

Question 2
Question Type: MultipleChoice



You upgraded the boot image and changed the boot pointer to the new image using bootimage command. Which of the following

operations will load the new image?

Options: 
A- reload

B- restore

C- system-reset

D- shutdown --r

E- restart

F- reboot

Answer: 
F

Question 3
Question Type: MultipleChoice



When VRRP-A is enabled on a device with multiple partitions, which statement about VRID 0 is correct?

Options: 
A- Each partition has its own distinct VRID 0.

B- VRID 0 only exists in the shared partition; private partitions can only contain VRIDs numbered higher than 0.

C- VRID 0 is initially enabled only in the shared partition; partition administrators can enable VRID 0 in their partitions.

D- When using VRRP-A on a device with multiple partitions, VRID 0 is automatically disabled.

Answer: 
A

Question 4
Question Type: MultipleChoice

Given the following VRID 2 configuration, which device will host the VRID after the three devices at the same time?



Options: 
A- Device 2



B- Device 1

C- VCS will randomly assign the VRID to a device based on the uptime of the device.

D- Device 3

E- The VRID will be hosted on all three devices at the same time.

Answer: 
B

Question 5
Question Type: MultipleChoice

ACOS can log the following accounting records for administrative sessions:

Options: 
A- device access attempts only

B- syslog errors of a specified severity level

C- device access and command entry attempts



D- command entry attempts only

E- syslog errors of severity greater than a specified level

Answer: 
C

Question 6
Question Type: MultipleChoice

Select two aXAPI implementation use cases. (Choose two.)

Options: 
A- Auto-syncing the configurations via virtual chassis.

B- Extract ACOS configurations or statistics from ACOS.

C- Perform deep packet inspection on traffic and redirect and modify content.

D- Writing scripts to automate configuration changes.



Answer: 
B, D
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